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The population of a city in various years are given
in table. Find the population in 2020 by arithmetic
increase method.

Year 1970 | 1980 | 1990 | 2000

Population | 55000(120000| 184000296000

fodt R ) fafr= auf o S 9ol
¥ & A 2| Spudrda gerady fafer 9 aof
2020 ¥ wirEEAT b |

Year 1970 | 1980 | 1990 | 2000

Population | 55000(120000/ 184000296000

8. Describe working process of slow sand filter with

neat sketch.
8
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Full Marks : 80

Pass Marks : 26

Answer all 20 questions from Group A, each question
carries 1 marks.
Tu-A 9w+l 20 ¥ @ IR T, UAS U BT A [ A5 2 |
Answer all Five questions from Group B, each question

carries 4 marks.

9B & aft ufg ueal & IR <, uAS U & 9H 435 2 |

Answer all Five questions from Group C, each question

carries 8 marks.

7u-C & it ufg 9ol @ SR <, TAS UeT &1 A9 83 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
U6 e & a9t e BT SR ¢S & o8 (AR HH )
BT AMRY, 3=4eMT 4 Siid € o ¥ad @ |

The figure in right hand margin indicate marks.
< ured & 3id Yuiie & qad 2 |
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Write a short note on physical and chemical
characteristics of sewage.

Haw & Hifas vd arafae fagivaesn «w®
U dferag fewofi fod |

What are the effect of noise pollution on human

health?
ea 4

®|f yguu & W W 4R T YA 87
OR (3121a1)

What is sewage farming ? Write its advantages
and disadvantages?

WA Gt 71 8? 3D T U9 BT Bl
ford |

Write different system of water distribution.
4
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Maximum turbidity for drinking water based
on silica scale is:

(a) 5 ppm

(b) 10 ppm

(c) 20 ppm

(d) 50 ppm

Teoyd &) AfSrpad far Rufaer e

pH value representing a strong acid is:
(a) 1

(b) 5

(c) 7

(d) 10

P.T.O
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Answer all Five Questions.

aHl ufg gl @ SR
2. What are the different types of water demand?

4x5=20

Write the factors affecting water demand.

gl @Y 9T & A= 9er T 27
gl @Y | B gHIfad HA dTd PRSI DI
ford |
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(3) argEaeh Sfiary

(|) IS Siarg

() 39 9 BIg 78

Maximum consumption of water is noticed
in:

(a) Paper industry

(b) Auto mobile industry

(c) Steel plant

(d) None of these

(31) BT SeNT

() SIS ST
(|) swra 9a=

() s 9 3Ig T8

The process of killing pathogenic bacteria of
water boro diseases to make it safe for use is
called:

(a) Sterilisation

(b) Aeration

(c) Disinfection

(d) None of these

P.T.O



O'Ld

uoneuewIpag (p)

uonenry (9)

Suruoarog (q)

Surururyg (e)

:Se umouy

SI 93eMIS WLIOJ JSBAI3 PUR [10 JO [BAOWAI AU [,

20 2 (2)
a2 S (B)
a2 € (b)
220 1 (1)
-8 ke
............ &@h&hﬁ@%hw

wy (p)
wg (9)
we (q)
wy (®)
:ST UI)SIO Surysnyy & Jo YJIOY Wi oy |,

Bl Bl R 3 (2)

U2 M) (1)

Yehlis 282 (8)

rdlis 2b (ie)

—lilk @ Bisgpble D hlis b

(xx)

(x1%)

(x1%)

lklk |® [lRIDh ®Lpld b PR bk (1AY)

€09S1 I

8009.LO

st (p)

01 (©)

S (q

[IN (e)

:9q 1SN 19jem SunjuLIp 9jes 10y ‘q'O'dq UL

Bk Bl B bkd (2)

balb Mbldy (R)

balb MBRIn (b)

bolb 21bRIK (Ie)

—2 1DIR3® |2 DD Llis kb

1ad] |2 @) Pbd & bI2p |In ‘bAIb 2p

asayy Jo duoN (p)
JATBA IN0JS ()

9ATeA 9IS (q)

JATRA XN (B)

‘B ST UOI}JIIP

QUO Ul A[UO MO} O} SMO[[ YOIYM JA[BA Y],

Bk Bl B pkd (2)

labaesbp] (B)

loakRRIb (k)

blaliTalle d (i)

—g p3®

"""""" L& BiR) 1 blbk DERR |© BRI

)

(x1)

(x1)

redlk 1@ leTallely @ LRYIkP DLjioRIn (1)

8009.LO 9

€09s1



15603

(xvi)

(xvii)

(xvii)

(xviii)

10 0T6008

qR=d &1 Mider gam Wids g

(H) Serd=
(@) s 4 »Ig E

In distribution pipes, drain valves are
located at:

(a) Junctions

(b) Summit

(c) Lower joint

(d) None of these

() s | PIs I

If organic matter increases in sewage, the
demand of oxygen will:

(a) Increase

(b) Decrease

(c) Remain constant

(d) None of these

0T6008

(x)

(xi)

(xi)
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@) s

(@) 10

(]) 15

The minimum diameter of working chamber
of a circular manhole should be:

(a) 2m

(b) 1.5m

(c) 1.0m

(d) 0.5m

TSR 3R ATEId & BRBR] H&T Bl
AT AN oo BT ATfey—

(31) 2#lo

(@) 1.5%10

(&) 1.0%lo

() o0.5%10

The liquid waste from kitchen and bathroom
is called:

(a) Sewage

(b) Sullage

(c) Storm water

(d) None of these
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10.

OR (3721d)
Describe any four methods of distribution of water.

ol ®I DICIVRIET dxA @1 fHh=d ar faferr
BT quiv & |

Draw the flow diagram of a sewage treatment plant.

Explain briefly the function of each unit.
8

o SUAR HIF &1 9819 T §91d | sHD)
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OR(37214T)

What are different sections of sewers? Explain egg
shaped section and horse shoe section with neat
sketch.

Hax & fafr= s RT—FA1 2? IvSITHR Td
HIs @ A% & AR dlel HIc &l W fad
q sy |

Calculate the B.O.D. after 2 days at 35°C of a
sewage sample whose 5 day 20°C B.O.D. is
120 mg/¢ Assume C=0.1at 20°C 8
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Describe any four methods of distribution of water.
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Draw the flow diagram of a sewage treatment plant.

Explain briefly the function of each unit.
8
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What are different sections of sewers? Explain egg
shaped section and horse shoe section with neat
sketch.
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Calculate the B.O.D. after 2 days at 35°C of a
sewage sample whose 5 day 20°C B.O.D. is
120 mg/¢ Assume C=0.1at 20°C 8
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